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Rk 2 14F YRR 2045 - -
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X 73 i 1E B KA | 4 Bl # E A A =t T EH BB %
(A) (B) (C)=(A)+(B) (D) (E)=(C)-(D) (E)/(D)*100
— it & g 16,121,235 68,164 16,189,399 15,395,427 793,972 5.2
5| = (G
K %U@ E%A b Eﬁ 5,078,604 5,078,604 4,819,828 258,776 5.4
D ~ o
fﬁf é[\J ﬁ% @ 24,507 24,507 521,011 /496,504 A95.3
D ~ o
% B & %
fﬁf R g[j i ?ili B ’?ﬁ 419,693 419,693 432,948 A 13,255 A3.1
D ~ o
A~ B N
/! . ﬁ% Eﬁ 2,965,232 2,965,232 2,662,995 302,237 11.3
T Kk B ¥ OB &= 3 1,987,201 1,987,201 2,336,783 /349,582 A15.0
[EE5) > N3
o = %U% W, oW QJ? 87,042 87,042 87,308 /266 0.3
D -~ o
VRSN AN 729,086 729,086 747,327 A18,241 A2.4
) I 2 7Y 3¢ H 627,935 627,935 654,912 /26,977 N4.1
KIiE F ¥ S G -
29 NEES ' EUN 34,331 34,331 35,073 AT42 A2.1
(NN SISy 319,384 319,384 623,933 304,549 A48.8
VRSN AN 47,592 47,592 48,326 AT734 A1.5
T % A ok @ | DI 47,592 47,592 48,326 AT34 A1.5
# X =2 W 2 NE SN EUN 6,100 6,100 10,147 A4,047 A39.9
(NN SISy 6,100 6,100 10,147 A4,047 A39.9
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(A) (B) (C)=(A)+(B) (D) (E)=(C)~(D) [(E)/(D)100
il i) 4,877,961 4,877,961 30.1 5,392,659 35.0 A514,698]  A9.5
2 E 5B 198,335 198,335 1.2 197,700 1.3 635 0.3
SIS S | I N 21,600 21,600 0.1 38,000 0.2 A16,400[ A43.2
VO I R o 2,700 2,700 0.0 20,800 0.1 A18,100] AS87.0
5 BRACSE R I P 15 B 22 A & 8,300 8,300 0.1 13,900 0.1 /A5,600[  A40.3
6 1 7 W & B LA & 415,000 415,000 2.6 430,000 2.8 /15,000 A3.5




T VT SR B AR A 4 9,400 9,400 0.1 9,400 0.1 0 0.0
8 H ®y L I 15 Bl & & 52,800 52,800 0.3 57,600 0.4 4,800 A\8.3
9 Eﬁﬁﬁgﬁ‘ﬁbggﬁ /fﬁ 9,500 9,500 0.1 9,700 0.1 A200 N2.1
10 #t 5 & Bl &£ fF & 90,670 90,670 0.6 91,123 0.6 A453 N0.5
In# 5 & B 2,991,227 2,991,227 18.5 2,377,000 15.4 614,227 25.8
12 72 18 22 4 % 0K RF Bl 228 A+ 4 10,000 10,000 0.1 10,000 0.1 0 0.0
134 #H & kA #H & 369,897 369,897 2.3 330,060 2.1 39,837 12.1
14 £ H B &k Y F & B 171,504 171,504 1.1 176,662 1.1 /5,158 AN2.9
15 X W & 2,266,401 2,266,401 14.0 1,890,643 12.3 375,758 19.9
16 & 53 H &> 967,881 6,743 974,624 6.0 872,752 5.7 101,872 11.7
17 ¥ JE I A 25,379 25,379 0.2 18,284 0.1 7,095 38.8
18 % Bt & 3,421 3,421 0.0 2 0.0 3,419(170,950.0
19 f A & 1,249,735 61,421 1,311,156 8.1 1,193,829 7.8 117,327 9.8
20 & el & 374,965 374,965 2.3 200,000 1.3 174,965 87.5
21 & I A 232,730 232,730 1.4 134,825 0.9 97,905 72.6
22 T i 1,771,829 1,771,829 10.9 1,930,488 12.5  /A\158,659 8.2

a At 16,121,235 68,164 16,189,399 100.0 15,395,427 100.0 793,972 5.2
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(A) (B) (C)=(A)+(B) (D) (E)=(C)-(D) |(B)/(D)x100
1 % = # 186,309 186,309 1.2 149,447 1.0 36,862 24.7
2 ¥ % # 2,140,564 2,140,564 13.2 1,612,974 10.5 527,590 32.7
3R A # 5,137,246 5,137,246 31.7 4,652,888 30.2 484,358 10.4
4 fi 45 # 1,459,086 68,164 1,527,250 9.4 1,185,730 7.7 341,520 28.8
6 = KoOE ¥ B 359,208 359,208 2.2 391,901 2.5 A\32,693 A8.3
7 P4 T o 116,249 116,249 0.7 95,704 0.6 20,545 21.5
8 + N # 1,991,262 1,991,262 12.3 2,442,637 15.9] A451,375]  A18.5
9 H il # 631,128 631,128 3.9 548,202 3.6 82,926 15.1
10 % B # 2,285,565 2,285,565 14.1 2,618,438 17.0|  A332,873] A12.7
1% F & L=y 0 0.0 0 0.0 0| #DIV/0!
12 2 f& # 1,794,618 1,794,618 11.1 1,677,506 10.9 117,112 7.0
14 ¥ fisi # 20,000 20,000 0.1 20,000 0.1 0 0.0
& 16,121,235 68,164 16,189,399 100.0 15,395,427 100.0 793,972 5.2
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(A) (B) (C)=(A)+(B) (D) (E)=(C)—~(D) [(E)/(D)x100
- | A (Gx # 2,906,944 2,906,944 18.0 2,823,223 18.3 83,721 3.0
(2 b B B & ) 1,763,123 1,763,123 10.9 1,764,337 11.5 A1,214 A0.1
% i) # 3,209,535 67,735 3,277,270 20.2 2,966,344 19.3 310,926 10.5
7N & # 1,794,618 1,794,618 11.1 1,677,506 10.9 117,112 7.0
wHowm B R F X 1,998,355 1,998,355 12.3 2,691,818 17.5| 693,463 A25.8
( 9 B M B ) 1,137,835 1,137,835 7.0 2,183,243 14.2] A1,045,408] A47.9
( 2 B H M ) 850,520 850,520 5.3 498,575 3.2 351,945 70.6
ObREFRXEAHSE) 10,000 10,000 0.1 10,000 0.1 0 0.0
= HH FE ¥ B 0 0 0.0 0 0.0 0 0.0
(G ¢ 1,795,134 429 1,795,563 11.1 1,487,294 9.7 308,269 20.7
oM e % 116,718 116,718 0.7 101,696 0.7 15,022 14.8
» ) # & 2,790,527 2,790,527 17.2 2,036,691 13.2 753,836 37.0
Ob—HMFEBHMHEE) 1,702,365 1,702,365 10.5 1,472,469 9.6 229,896 15.6
1% H VA & 16,676 16,676 0.1 12,702 0.1 3,974 31.3
BEMOHE & - BT & 12,300 12,300 0.1 14,276 0.1 A1,976]  A13.8
R ik i & 1,460,428 1,460,428 9.0 1,563,877 10.2|  A103,449 /\6.6
fi # 20,000 20,000 0.1 20,000 0.1 0 0.0
& it 16,121,235 68,164 16,189,399 100.0 15,395,427 100.0 793,972 5.2
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